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Sl. No.1
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Choose the correct form of verb to fill n the blank :

Risks come from not what you are doing ?

(1) have known
(2) known

(3) knowing

(4) know
fEdden-w ol o= 982 2
1 T

(2) ¥

3) ¥

(4) H

1[Option ID=31201]
2[Option ID=31202]

3[Option ID=31203]
4[Option ID=31204]

Sl. No.2
QBID:1555042

Choose the appropriate preposition to complete the sentence :

Her request for a transfer was turned
(1) up

(2) for

(3) down

(4) through

e €1 By feg o
YT ] : TG YT BT UG B & W Byl Yig O7 O S o S & |
PYTI ] T & Ue I AR W T F - T 6 YR U, TS & YR 9K U7 of F YR W |

SUIE $YT & A |, 419 f2U 7 fawed! ¥ § 999 IugeE ST 31 904 Shas
(1) Hu ] SR 11 S w8 &

(2) ®vF ] R I &4 Taa 8

(3) T TR AFT T I T @

(4) TF]TEEE AfEA B I T

1[Option ID=31245]
2[Option ID=31246]
3[Option ID=31247]
4[Option ID=31248]

Sl. No.3
QBID:1555043

Pick out the correctly spelt word.
(1) impromptu

(2) mprounptn

(3) impromputue

(4) inproptune

SEulE @1 fauH Ta1sy |

1) s




(@) =i
(3) W=E

(4) sEa=

1[Option ID=31273]
2[Option ID=31274]
3[Option ID=31275]
4[Option ID=31276]

Sl. No.4
QBID:1555044

Identify the correct indirect speech of the following sentence.

He said to me. "I don't believe you"

(1) He said that he doesn't believe me

(2) He told me that he didn't believe me.
(3) He told me that he didn't believed me.
(4) He told me that he didn't believe him |
R d s oI T ol S R I s 2 |
(1)

(2) &

(3) g

(4) =i

1[Option ID=31277]

2[Option ID=31278]

3[Option ID=31279]
4[Option ID=31280]

Sl. No.5
QBID:1555045

Rearrange the following parts of a sentence labelled PQRS to make a meaningful sentence.
P. overflow of powerful

Q. recollected in spontaneous

R. Poetry is a spontansous

S. feelings - emotions

(1) QSRP

(2) RPSQ

(3) QSPR

(4) SQRP

S BT FEAFTS B G WD B 7
(1) f&Eam

(2) @

(3) §<

4

1[Option ID=31281]
2[Option ID=31282]
3[Option ID=31283]
4[Option ID=31284]

Sl. No.6
QBID:1555046

Pick out the antonym of "strength’

(1) meeckness

(2) revenge

(3) frailty

(4) =nergy

I ol F TH &1 B UF W P A @ 7
(1) SHAH




(2) Ty
(3) WOy

(4) =dq

1[Option ID=31285]
2[Option ID=31286]
3[Option ID=31287]
4[Option ID=31288]

Sl. No.7
QBID:1555047

Choose the correct sentence.
(1) He had not left. we would have been forced to evict him

(2) Hadn't he left we would have been forced to eviet hum.
(3) Had he not left. we would have been forced to evict huim

(4) He not had left. we would have been forced to evict him.
Sriferal W FEET HErak @1 96l s s A g 7

(1) oyEmE &

(2) =R &

(3) TEm H &

(4) YU S

1[Option ID=31289]
2[Option ID=31290]
3[Option ID=31291]
4[Option ID=31292]

Sl. No.8
QBID:1555048

Choose the correct passive voice form of the following sentence.

He may have eaten the cake.

(1) The cake might have been eaten by them.
(2) The cake may have been eaten by him.
(3) He had ecaten the cake.

(4) The cake might have been eaten by him.
i # § 9E 97 &1 9099 i |

1) ==f 9 FY 79 T4 |

(2) == W HiY 79 B |

(3) == 9 %l B F |

(4) ==l 9§ %1y =81 S |

1[Option ID=31293]
2[Option ID=31294]
3[Option ID=31295]
4[Option ID=31296]

Sl. No.9
QBID:1555049

Pick out the synonym of the following word - 'captivating'.
(1) disappointing

(2) frightening

(3) fascinating

(4) frank

ffafes § & aom weg T8 T |

1) &4

(2) 5g&

(3) Fsw

(a) FER

1[Option ID=31297]
2[Option ID=31298]
3[Option ID=31299]
4[Option ID=31300]




Sl. No.10
QBID:15550410

Identify the part of speech of the underlined word in the following sentence.

Let us even the ground.

(1) Verb

(2) Adverb

(3) Noun

(4) Adjective
eI s e s g A8 2

(1) B H i st &1 e Sl & sE e g
(2) faduii § wRrey 50 | R, 59 IR FRS S ¢ |
(3) fosiuuii & qer =R 92 By T |

(4) SEITYE =N & 31 9e § - 99 SR 3 |

1[Option ID=31205]
2[Option ID=31206]
3[Option ID=31207]
4[Option ID=31208]

Sl. No.11
QBID:15550411

Who has been appointed as the new chief economic advisor (CEA) to the Government of India ?
(1) V Anantha Nageswaran

(2) Arun Kumar Singh

(3) Vijay Sharma

(4) Kartik Sen Gupta

78 U B YR WPR F U 520 e qamesr @30 & 308 e gu e
(1) & [T AFIYA

(2) %0 FHARRE

(3) faog =i

(4) Ffdias S

1[Option ID=31209]

2[Option ID=31210]

3[Option ID=31211]
4[Option ID=31212]

Sl. No.12
QBID:15550412

Which of the following companies are among the recently created 7 new Defence Public Sector Undertaking Companies. which were
created through restructuring of OFB (Ordiance Factory Board) ?

A. Weapons India Limited
B. Munitions Indian Limited
C. Yantra India Limited

D. Gliders India Limited

Choose the correct answer from the options given below :
(1) A. BandD only

(2) Cand D only

3) A, CandD only

(4) B. C and D only




FrafifEa =m-h sufE 3 g 6t & 7 7 adste e Sums Sutal wifta £1 2 B8 gy Faiw 6 31 e s % aean 3 wftg o mn
ur ?

A. 999 st fafies

B. g afm gitsyl fafbcs

C. 79 SfEm feffes

D. wizsd sosm fafies

i feu T fowedi ¥ § w99 Suge 9Tk #1907 S
(1) FTTA, B3R D

(2) F@aC IARD

(3) FAWA, C IR D

(4) F@B.CIRD

1[Option ID=31213]
2[Option ID=31214]
3[Option ID=31215]
4[Option ID=31216]

Sl. No.13
QBID:15550413

Name of the autobiography of Kamala Das is :
(1) My Story

(2) ListenI Tell You

(3) Wings of Fire

(4) Autobiography of an Unknown Indian

FHW 3 B HEHUT BT 15 &

(1) 7 =/

(2) tRF e 2uyg

(3) &9 ok BER

(4) SiEEEEE! e o= $feaa
1[Option ID=31217]

2[Option ID=31218]

3[Option ID=31219]
4[Option ID=31220]

Sl. No.14
QBID:15550414
A small organ at the base of the brain that produces substances that affect growth and sexuval development (hormones) is called :

(1) Pituitary Gland
(2) Hypothalamus
(3) Pineal gland

(4) Adrenals
AT & SMyR & G 1% Y 3 59 TeR & e B 3Ed Sl & 9 g9 giE SR dWe f[AET @) $1 9HIed $3al &, 98 1 Seendl &

A, foegeh ofy
B. sdideaT
C. difga 9y
D. ugHd

At fou e fEeedi § 9 9a9 3ugad I &1 994 B
(1) FTAA, B SR D

(2) FFTAIRC

(3) FTT A, BIRD

(4) FTTASRD

1[Option ID=31221]
2[Option ID=31222]
3[Option ID=31223]
4[Option ID=31224]

Sl. No.15




QBID:15550415
Who among the following is the first woman to receive two Nobel Prizes ?

(1) Marie Curie

(2) Andrea Ghez

(3) Donna Strickland

(4) Maria Goeppert Mayer

i & | < H90 R W[ S Ol uE JRa S g 2
(1) Tl

(2) Tivgan uw

(3) smfEgs s

(4) it Toed #

1[Option ID=31225]
2[Option ID=31226]
3[Option ID=31227]
4[Option ID=31228]

Sl. No.16
QBID:15550416

In a certain code language

"uo ja ka hu" means "we great Indian country’,
"oi ka la ju" means "we score good highest'.

"la fu ja ju" means "India score the highest”

and "ju uo na fu" means "highest of the country".

Then what is the code of "great” in this code language ?
(1) uo

(2) ka

(3) ja

(4) hu

U 48y Fe Hw A

"uo ja ka hu" &1 2 § 'we great Indian country',
"oi ka la ju" &1 21 8 'we score good highest'.

"la fu ja ju" 1 3*f § "India score the highest"

3R "ju uo na fu" #1 2 & "highest of the country".

@ §9 Fe HIT H "great” BT He T2 ?
(1) uo
(2) ka
(3) ja
(4) hu

1[Option ID=31229]
2[Option ID=31230]
3[Option ID=31231]
4[Option ID=31232]

Sl. No.17
QBID:15550417




If "A@B" means A is the mother of B
"A#B" means A is the father of B

"A # B" means A is the son of B

How is X related to Z from the given equation ?

XYz Z
(1) X is the grandsen of Z.
(2) Z is the grandson of X.

(3) Z is the father of X,
(4) Z is the mother of X

g "A@GB" w1 f2fF A BFI A E
"AB' w1t B A, BE U

"Az B'® sl A BFEE
gt EF MR R X F ZE T IEYE?

XzYsZ

(1) X, ZHumg |
(2 ZXF ORI
(3) Z.Xwfamg
(4) ZXH A@Z |

1[Option ID=31233]
2[Option ID=31234]
3[Option ID=31235]
4[Option ID=31236]

Sl. No.18
QBID:15550418

Global Hunger Index is released by which of the following organizations ?
(1) World Health organisation

(2) Concern Worldwide & Wealthungerhilfe

(3) Food and Agriculture organisation

(4) World Food Programme

i # & e ar 3 yeud gEeis ol fem e & 2

(1) oy ey §Te

(2) H TTATS TS TUER TR

(3) & ud B @18

(4) oy gy wRiwH

1[Option ID=31237]
2[Option ID=31238]
3[Option ID=31239]
4[Option ID=31240]

Sl. No.19
QBID:15550419




Seven dance students- T. U, V, W, X, Y and Z - are to give a performance, and the judges have to decide the sequence in which they
will perform. Each student will perform exactly one item, a solo ballet. In deciding the order of performance, the instructor must observe
the following restrictions :

1. X cannot perform first or second.

2. W cannot perform until X has performed.

3. Neither T nor Y can perform seventh.

4. Either Y or Z must perform immediately after W.

5. V must perform either immediately after or immediately before U.

If U performs third, what is the latest position m which Y can perform ?
(1) Fifth

(2) Sixth

(3) Seventh

(4) Fourth

R WFIasE-T. U, VW.X. YIRZ-F & J@Rgacit IR otsl sl m vt st G er e snd g & mem &t
Bl UH WA 1 B - UF USd ad & w0 | | o &1 %8 Fuiiva s 99a 8es & g ufde= &1 geq s siferd g -

. X Ug% T gER H 9T U el ¢ gl |

X & wgf &9 9 ugd W R T8 S W |

AT T HRAE Y 96d 0 W TG ¢ GHa @ |

. W F g 918 Y 1 Z & I &A1 eFh |

.U & 30 950 a1 goa a8 § V S Weid o 91eq |

vy - afg U R 8 W wegf a1 & a Y Siuas $e gl & 9sar g ?
1) ofgd

(2) Tog

(3) g

(4) =l

1[Option ID=31241]

2[Option ID=31242]

3[Option ID=31243]
4[Option ID=31244]

R T

Sl. No.20
QBID:15550420

A country has seven major cities - A, B, C, D. E. F and G. Three flights labeled X, Y and Z are available to connect the cities following
the rules :

Flight X has its ends at A and C, and passes through B only.
Flight Y has its ends at B and C, and passes through D only.
Flight Z has its ends at E and G. and passes through F only,
Directly connected cities are those cities between which there is no other city to land any flight.

Which of the following city is directly connected to the most other cities ?
1) A
(2) C
3) B
(4) D




@%?WWW%-A.B. C.D.E.FsiRG. fotftn fmai s s i el sl smm A v s fmdsos e XL Y. Z
RUGEIEA

FTE X, A 3R C B oI5l § AR FI0 B ¥ 5% ol & |
TEAYFMBARC RENMN g Fa0 D | 51 Tosail & |

SM Z % RRE 3R G W E 3R 75 $a0 F F EFR Toedl ¢ |

T W BT T ST g1 e HE1 o 51 & for dfg H 9O 3f Suvd & O $i5 S} Tet el & |

T s T T s g A S Y AR R 931 & -
1) A

(2) C

3) B

4) D

1[Option ID=31249]

2[Option ID=31250]

3[Option ID=31251]
4[Option ID=31252]

Sl. No.21
QBID:15550421

In how many different ways can the letters of the word AUCTION be arranged in such a way that the vowels always come together ?
(1) 676

(2) 476

(3) 578

(4) 576

AUCTION =15 % auil &1 frafl v & oafeua fvan o1 wwan 2, o 5 v v we @y ot 2
(1) 676

(2) 476

(3) 578

(4) 576

1[Option ID=31253]

2[Option ID=31254]

3[Option ID=31255]
4[Option ID=31256]

Sl. No.22
QBID:15550422

The surface area of a cube is 1734 s.q. cm. Then volume of cube is...
(1) 289 em?

(2) 4913 em?

(3) 4931 em?

(4) 4319 cm?

U U &1 YETT 8Fa 1734 9 G4 8 a1 9 &1 SiaaA o arm 2

(1) 289 em?

(2) 4913 cm?

(3) 4931 em?

(4) 4319 cm?

1[Option ID=31257]
2[Option ID=31258]
3[Option ID=31259]
4[Option ID=31260]

Sl. No.23

QBID:15550423

If v 1 .then x2+y2
y 3 -y

1) 2
4




2) 4

3)

(4)

V9]
Bl |
|

et

a) ——

(2) -

3)

(4)

W e |

1[Option ID=31261]
2[Option ID=31262]
3[Option ID=31263]
4[Option ID=31264]

Sl. No.24
QBID:15550424

How much time will it take for an amount of F 4.5% to yield ¥ 81 of mterest at 4.5 % per annum of simple mnterest ?
(1) 4 years

(2) 5 years

(3) 3 years

(4) 6 years

F 450 & ¥R F R 4.5% vfved seRU e S R I TE F w9 H 7 81 Wk 9 F e wwg @ 2

() 4=d

(2 s5od

(3 3ad

4 6md

1[Option ID=31265]
2[Option ID=31266]
3[Option ID=31267]
4[Option ID=31268]

Sl. No.25
QBID:15550425

The average of 7 consecutive numbers is 20. Then sum of smallest and greatest number is
(1) 23

(2) 17

(3) 40

(4) 30

7 HHITE SETS B ST 20 § O S99 B¢ ud SeY S0 §=0 1 4 e g 2
(1) 23

(2) 17

(3) 40

(4) 30

1[Option ID=31269]
2[Option ID=31270]

3[Option ID=31271]
4[Option ID=31272]

Sl. No.26
QBID:991514841

What arc the three basic components in a layout of press advertisement?
(1) Bamner, Logo, Sub-headline
(2) Visual. Headline, Bodycopy




(3) Symbol. Icon, Headline

(4) Visual, Sub-headline. Logo

o faga @1 o F JF oo ges pif@a e eE E @
(1) &R, TN, 3-dE

(2) =wE, ¥, T i EiE )

(3) Wi, gy, Sid®

(4) =99, gofids, o @)

1[Option ID=30601]
2[Option ID=30602]
3[Option ID=30603]
4[Option ID=30604]

Sl. No.27
QBID:991514842

Which of the following is TRUE about a logo?

(1) It should convey the mtended message to consumers in a meaningful way.
(2) It should be easily recognizable by consumers and memorable.

(3) It can consist of an image, symbol and/or text.

(4) All of the answers are correct.

ol (e & Sed A FEfET A s w w22

(1) Tz SoMEmslt & o 9 G & enfiy dew Wifte 3 T S aifeg

(2) T IUHESH ERT SREEgde SR WRE g1 ey

(3) oA =ig fom, Wt ofiR/am wres off =nfira &F 9@ &

(4) 4 IR T E

1[Option ID=30645]
2[Option ID=30646]
3[Option ID=30647]
4[Option ID=30648]

Sl. No.28
QBID:991514843

A type of image created by Adobe illustrator which can be made very large or very small with no loss of detail or clarity.
(1) Vector image

(2) Colourful image

(3) Raster image

(4) Painted image

TSTE soRet G MiHd 99 &1 0% TeR ford e arat Tl & &4 & &1 9ga 991 3E §gd 81 s o1 99l o

(1) T TH (Siem )

(2) TG 58 (T )

(3) I giw

(4) TS ghW (phm )

1[Option ID=30689]
2[Option ID=30690]
3[Option ID=30691]
4[Option ID=30692]

Sl. No.29
QBID:991514844

Choose the lowercase letter with an ascender?
1) h

(2) a

(3) g

(4) m

SRS (RISY) a1 BIE TTRY (@R ) 0 &1 g
(1) h@E®

(2) a®@

(3) g @M




(4) m (@H)

1[Option ID=30733]
2[Option ID=30734]
3[Option ID=30735]
4[Option ID=30736]

Sl. No.30
QBID:991514845

Which term describes unposed photos when the subject is not aware of being photographed?
(1) Posed

(2) Candid

(3) Freestyle

(4) None of these

wie! fEan v e wa wor T8l oi 8 @ R sees canifie) TR 1 39 A e aftfa s 2
(1) s

(2) &g

(3) wiwEd

(4) AR T8

1[Option ID=30777]
2[Option ID=30778]
3[Option ID=30779]
4[Option ID=30780]

Sl. No.31
QBID:991514846

Match List I with List IT

List-1 List- IT
A Blurb [ |Packaging
B |Dummy [I |Textpiece
C |Spine [ [Lavout of ad.
D |Die-cut [V |Back bone of the book

Choose the correct answer from the options given below:
(1) A-II, B-III, C-IV, D-1
(2) A-II, B- IV, C-1, D-III
(3) A-IV,B-III . C-I. D-II
(4) A-IV, B-L, C-III, D-II

el - 1 F1Y Jai - 11 7 e fesfee:

1 -1
A (3R] U= (&) [ [Odbhoi
B [HidUl (34 1 [d151=1
C [d13 &g IGO0 1 0
D [WI-®CTE (Sl-®2)  [IV [J%d &1 g (dheia)
i feu e fderedl § 9 981 3t &1 994 Sifvi:

(1) A-IL B-II1, C-IV, D-I
(2) A-IL B-1V. C-1. D-III
(3) A-IV.B-III. C-1. D-II
(4) A-IV. B-I. C-IIL, D-II
1[Option ID=30821]
2[Option ID=30822]

3[Option ID=30823]
4[Option ID=30824]

Sl. No.32
QBID:991514847

SLR stands for
(1) System Linear Remote

(2) Semi Lens Reflector




(3) Single Lens Reflex

(4) Specification of Lens Range

T O R 31 e g

(1) firen fofmw foe

(2) & a7 frRaes

(3) fimm @ frodes

(4) TRfiftEeeE HfE a0 i
1[Option ID=30865]
2[Option ID=30866]

3[Option ID=30867]
4[Option ID=30868]

Sl. No.33
QBID:991514848

Which one among the following cannot be saved as image format?
(1) Jpg

(2) .mov

(3) .bmp

(4) tiff

fafafEa § 9 219 91 389 $iHe & ¥9 § WG @9 7ol & 95dl &2

) jpg

(2) .mov

(3) .bmp

(4) tiff

1[Option ID=30893]
2[Option ID=30894]
3[Option ID=30895]
4[Option ID=30896]

Sl. No.34
QBID:991514849

In graphic design. an icon is commonly defined as

(1) The abstract representation of a concept or idea

(2) Basic graphic shapes

(3) Detailed artistic reproductions of an object

(4) The visual representation of specific objects

it fame # ot (Mgt wwraa: Fmfifa w9 § aftf fsa o 2
(1) 3@yRm o AR =1 FRdy vfosu fosRm)

(2) O AihE ATHR

(3) &4 = =t fowgm woers wiogfa

(4) fafty aegsit &1 vwn ieey (fomeem)

1[Option ID=30897]
2[Option ID=30898]
3[Option ID=30899]
4[Option ID=30900]

Sl. No.35
QBID:9915148410

Match List - I with List - IT

List-1 List - IT
A |[Depth of Field 1 |Calligraphy
B |[Decorative Writing 11 |Multimedia
C  |Wnting on walls 111 |Photography
D [Visual & Sound TV |Graffiti

Choose the correct answer from the options given below :
(1) A-II, B-IV, C-I, D-III
(2) A-II B-IV, C-I, D-II
(3) A-II, B-I, C-IV, D-II




(4) A-IL B-IV, C-ID-IV

il - 1% 914 =i - 11 D7 i fefeg:
Tt -1 Tt - 11

[ PR G B | NP

B |HTcihId - I oA

C [EaR oY oEd I [BIeHTh]

D [E¥0 TS @ IV FIEC] (Hha-oE)
=i fGu T 9@ el 5 ¥ Ue1 3R &1 944 Il

(1) A-IL B-IV, C-1, D-IIT
(2) A-IL B-IV, C-I. D-II
(3) AL B-I. C-IV, D-II
(4) A-L B-IV, C-ID-IV
1[Option ID=30605]
2[Option ID=30606]

3[Option ID=30607]
4[Option ID=30608]

Sl. No.36
QBID:9915148411

The term 'Bleed Area’ is used in the designing layout for an advertisement which means
(1) Ink bleeding on the page

(2) A page without borders

(3) Area with margin space

(4) Area with borders

farddt fagmoe & oy v feonstn # =frs ufvar ug vgea o ©, 9@ o=y &

(1) Y8 9 Gl &1 9au

(2) =R @R % & gy

(3) Aol = AT &=

(4) ISR wiea &

1[Option ID=30609]
2[Option ID=30610]
3[Option ID=30611]
4[Option ID=30612]

Sl. No.37
QBID:9915148412

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Personal Selling reaches a limited number of people.

Reason R: Personal Selling is highly flexible as the message can be adjusted.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

Fr2 <1 Fy fau MU & 0F AfUFUA (Assertion A) F w9 # ffEd & 1 90 59 FRU (Reason R) & ¥4 #
YA A - feaa fawa @t uge difig ot @@ gl 3

FRU R : AEad [&ma o 791 5ial & [oe 988 ©f SaEid fear &1 9o 21

IWIed FYF & AT |, A9 37 0 Bedl # 9 999 Jugad IR 1 904 Siie:

(1) A SRR EH 98§ IR R, A F1 95! oo g

(2) A SRR SFi 98l & @7 R, A #1 w8l wren 98 21
(3) AFS e R EE A 2

(4) A 9! 781 & qfd R Wl &1

1[Option ID=30613]
2[Option ID=30614]




3[Option ID=30615]
4[Option ID=30616]

Sl. No.38
QBID:9915148413

Select the correct order of the layout design process
(1) Rough, comprehensive, thumbnail, final

(2) Rough, thumbnail, comprehensive, final

(3) Thumbnail, comprehensive, rough, final

(4) Thumbnail, rough, comprehensive, final

it @ nse) fEas ufia &1 981 %A R ik
(1) SuRpe, o, wHigw, s

(2) P, Hidma, amgs, i

(3) wi&E, =g, mivspa, #fan

(4) wiEE, Hofrga, ags, Hfan

1[Option ID=30617]
2[Option ID=30618]
3[Option ID=30619]
4[Option ID=30620]

Sl. No.39
QBID:9915148414

In typography. most traditional types have small cross strokes that appear on the arms of certain letters which are known as:
(1) Serifs

(2) Sans Serifs

(3) Seripts

(4) Decorative

TEU-H H, HUSR IR YR [@5WE) § 7Y H15° A9 1 & o 39 90l $1 yusit v 9w aran &, of FHafafEe w3 o §
(1) o (@R / e g

(2) ¥ Sy @ & &

(3) faftaf

(4) 3feTies

1[Option ID=30621]

2[Option ID=30622]

3[Option ID=30623]
4[Option ID=30624]

Sl. No.40
QBID:9915148415

Point size is a relative measure of the size of a font, so what would be the pomt size of the type if its height is 1 inch.
(1) 62 pt.

(2) 12 pt.

(3) 46 pt.

(4) 72 pt.

are WEe fE wie & PR H1 Aae 71 g afk suwl S 1 59 8 ) <15y &1 Wie Wise & gre

(1) 62 @R

(2) 12 @r5e

(3) 46 @Re

(4) 72@Re

1[Option ID=30625]
2[Option ID=30626]
3[Option ID=30627]
4[Option ID=30628]

Sl. No.41
QBID:9915148416

Newspapers have a typical layout design where the content of the pages are divided vertically mto what is known
(1) Vertical lines

(2) Columns

(3) Bylines




(4) Grids

TAER-TA B U faftiy st gt & oef ust 3 fvosg fefafaa & wu F dega e et 2
(1) e Y @fésa aE)

(2) &Tod &)

(3) =5 @A (7 i)

4) frs

1[Option ID=30629]
2[Option ID=30630]
3[Option ID=30631]
4[Option ID=30632]

Sl. No.42
QBID:9915148417

Match List - I with List - IT

List-1 List - IT
A |Tovota [ |Impossible 15 Nothing
B |Adidas I |Open Happiness
C  |De beers I [Let's zo places
D |Coco Cola IV |A diamond 15 forever

Choose the correct answer from the options given below :
(1) A-II, B-1IV, C-I. D-III
(2) A-IIL B-III, C-I, D-IV
(3) A-III B-II, C-IV, D-I
(4) A-II, B-I, C-IV, D-II

el - 1% 914 i - 11 &7 i fesfee:

-1 -1
N EEE 1 EuriiEd o At
B [13is™ 11 |09 edi-g
C [Etdad I [cieg T @ 49
D [HIPH] DIcl IV [ SIS 39 BIRgaY
i feu e fasedi o T el TR &1 99 Sifele:

(1) A-IL. B-1V. C-1. D-III
(2) A-IL B-III. C-1, D-IV
(3) A-IIL B-II. C-IV, D-I
(4) A-IIIL B-I. C-IV. D-II
1[Option ID=30633]
2[Option ID=30634]

3[Option ID=30635]
4[Option ID=30636]

Sl. No.43
QBID:9915148418

The thickness of a paper used for print mediums is measured in ratio to its weight and is called
1) GSM

(2) INCHES

(3) PICA

(49) MM

e A1l & Y vged 519 9T SR B el 9% au & Hgaa § A7t o 2 O w1 o &

(1) Fiomm

(2) =9

(3) famdy

(4) T
1[Option ID=30637]
2[Option ID=30638]

3[Option ID=30639]
4[Option ID=30640]




Sl. No.44
QBID:9915148419

Double spread page layout is featured in the centre of a magazine or newspaper. it is referred to as
(1) Full Spread

(2) Centre Spread

(3) Frame Layout

(4) Picture Window

U1 Sa FARER 04 & 7 F €1 gETY UER T (G99 9 0 4-319e) fafa fm Wi 8, 59 o o &
(1) FUTE

(2) eI ss

(3) FH T-3m3e

(4) fUe=R fdst

1[Option ID=30641]
2[Option ID=30642]
3[Option ID=30643]
4[Option ID=30644]

Sl. No.45
QBID:9915148420

A group of similar ads with a unified tone or message is called:
(1) Advertising Campaign

(2) Advertorial

(3) Advertising Strategy

(4) Advertising Appeal

THiFa 29 71 SEN A S R & S Fee B

(1) e sfime

(2) durEm 2 # e

(3) fammes it

(4) fammo= e

1[Option ID=30649]
2[Option ID=30650]
3[Option ID=30651]
4[Option ID=30652]

Sl. No.46
QBID:9915148421

ISO stands for
(1) International Organization for Standardization

(2) Indian Optical Standards

(3) Internal Office System

(4) Information of Standards

33 g9 o % fowga w9 &

(1) LeHTHEd HHEWEH BN ¥ oonaeH
(2) SfET sfiftsa wrssy

(3) gexqd aiiitey faen

(4) SHHEEF I Fegd

1[Option ID=30653]
2[Option ID=30654]
3[Option ID=30655]
4[Option ID=30656]

Sl. No.47
QBID:9915148422

A metal type made from a combination of lead, tin, and antimony that was incorporated by Johann Gutenberg in his first printing press:
(1) Logotype

(2) Typecase

(3) Movable type

(4) Durable type




TigTs e g s wug fifE o F o, e o et & s @ Giftfa Pefatee ofcas e s e man
(1) TFT ey

(2) =9 HE

(3) Hd=d 2Ry

(4) STXEd ey

1[Option ID=30657]
2[Option ID=30658]
3[Option ID=30659]
4[Option ID=30660]

Sl. No.48
QBID:9915148423

Given below are two statements:
Statement I : Design, for an Advertising Campaign is just to ereate a beautiful layout for the sake

of aesthetics and not its saleability.

Statement II : The different advertisement layouts of a campaign must be harmonious and clarify

the purpose and expression of an idea through its execution.

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement I is imcorrect

(4) Statement I is incorrect but Statement II is correct

RO rmE

wv[ [ : &l fams sifis & fo sftees wm digd & fom ger sifirome &1 o oxa ¢ 7 & suet fGufigar & o |
YA 11 ; et aftmm & fafi femm sfirorat &1 gea g1 912 oiR 59 saiaay gr1 fedt far &1 sifisfE ok Sew &1 sy &3 am 5

=iy |
SIE BYA & A0 A, A9 BT 7 fawedt # ¥ el SugEd 9T B 90 Sl

(1) FA] AR FuF I S o &
(2) Fu 1 R SuA 11 21 Toa &
(3) T 1 el 2, A Fue 11 e @
(4) FYA ] Tea B, Ao FuA 11 9 7

1[Option ID=30661]
2[Option ID=30662]
3[Option ID=30663]
4[Option ID=30664]

Sl. No.49
QBID:9915148424

A higher ISO will result in what?
(1) Brighter exposure

(2) More noise or pixelation

(3) Reduce the need for a flash
(4) All of these

I A% 09 o &1 afvom FefifEe # € @ avm
(1) Y= SeuRE @Tger TEeR)
(2) siftm wfy o fuedorm

(3) wiw F AEwET H FHI

(4) =i

1[Option ID=30665]

2[Option ID=30666]

3[Option ID=30667]
4[Option ID=30668]

Sl. No.50
QBID:9915148425

Given below are two statements:

Statement I :. Major advantage with respect to television advertising is its low cost.

Statement II : Television permits you to reach large numbers of people on a national or regional level in a short period of time
In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect




(3) Statement I is correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement II is correct

TR EE Rt

T | - gaR e & ded # vaE Y 5991 5 aFd o .

HY 11 ; gegRH earafy & WP sra 410 'R R A 1 OGS T a8 YS! Uge B ATEE W Bl o
SHIE FUE F A §, A9 B T ffeet § ¥ 999 Sugs I #1994 S

(1) AT R YA 11 SF1 a8l #
(2) &Y 1 3R ®uA 11 8 o &
(3) wuT 1 98l & A Bu= [ e &
(4) FyF I o 2, T Bua 11 96 2

1[Option ID=30669]
2[Option ID=30670]
3[Option ID=30671]
4[Option ID=30672]

Sl. No.51
QBID:9915148426

Aperture/f-stop affects what part(s) of a photo?
(1) Depth of Field

(2) Exposure

(3) Both Depth of Field & Exposure

(4) None of these

R/ UF -1 el & &g UFTMFT &1 JHIiad ST o7
(1) &7 F T

(2) IEHEA

(3) &4 I TEUE AR ISUEA Sl

(4) A FE 7@

1[Option ID=30673]
2[Option ID=30674]
3[Option ID=30675]
4[Option ID=30676]

Sl. No.52
QBID:9915148427

What is a pixelized or pixelated image?

(1) An image with resolution lower than 200

(2) An image that appears rough because the individual pixels are large enough to be visible in the image
(3) A printed image in which lines and streaks are visible.

(4) An image with red dot.

s o1 fisies R s g &

(1) 200 9 &4 REegeE (Faara) g &E

(2) ©w T fom o vy velia o ¢ st o ® e & fow ques s ot st St ©

(3) UF T i fom forad vy vd anfval smeAe Bt §

(4) v sie aran ==

1[Option ID=30677]
2[Option ID=30678]
3[Option ID=30679]
4[Option ID=30680]

Sl. No.53
QBID:9915148428

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Hologram stickers are flat adhesive labels that give the visual effect of containing a 3D image.

They are also commonly used on various products and packaging. giving brands a level of original product protection.

Reason R : They are often used for security purposes, as hologram sticker printing is a difficult process that can only be replicated
using the original "master hologram”.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A




(3) A is correct but R is not correct

(4) A is not correct but R is correct

F 21 Ty faU U & 0F AfNFYUT (Assertion A) F 9 # fEd & 1 90 S9F FRU (Reason R) & w9

HMUFYA A - ST ReH 9UIE ATS 494 &1d & 9 530 UHE 9§ Sfafdy 16 331 3 v $ed 71 @ S B el uE i w o vgea 5
I E, 9 §iS S aaE Jie SXA F1 TR HeH 3 6l

FRU R - T UG IRYT S50 & o yged e 91§ o 6 S R uw wied ufem B, e e o AR s & WE e 8 oeha a9
EIEEZiE

SR $Y & HAle H 4 2T T fdwedi # ¥ aH SugEd IR B 9G S

(1) A SRR EH 98§ SRR, A F1 95! oo g

(2) A SRR EHi 98l € e R, A # w8l oren 98 81
(3) AFS e R =S A 2

(4) A 9! 781 & qfed R Wl &1

1[Option ID=30681]
2[Option ID=30682]
3[Option ID=30683]
4[Option ID=30684]

Sl. No.54
QBID:9915148429

Given below are two statements:

Statement I : Secondary packaging is outside the primary packaging. so as to group the primarily packed objects.
Statement II : Packaging can be arbitrarily classified into Primary, Secondary and Tertiary Packaging.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement IT is correct

RAFEfgme

FuA | : felie afom, wufhs 9fem & aee el ¢ anfe Wuies w9 3 9% #1715 aegel &1 9apd &0 o 95|
HA 11 ; Tl mufies, fdios vd gdios & =9 § 599 €9 9 offea @ o1 9t 21

TRl B & SIS H, A9 6T Y el § ¥ qER Iuged ST B 99 SIg:

(1) &Y I IR Fu I 3 5t &
(2) FYA [ R HYF [ SH Taa &
(3) Hu ] HEl 2, Afa Fw= 1] Tea &
(4) FYA 1 7Tea &, Al YA 11 961 7

1[Option ID=30685]
2[Option ID=30686]
3[Option ID=30687]
4[Option ID=30688]

Sl. No.55
QBID:9915148430

The book binding techniques with wires in spiral form is known as:
(1) perfect binding

(2) spiral binding.

(3) comb binding

(4) stich binding.

FeimET § art gr1 foweaot @ a@He o e 0 9 e o &
(1) e wEieT

(2) =T agfen

(3) @i WEIET

(4) = aEien

1[Option ID=30693]
2[Option ID=30694]
3[Option ID=30695]
4[Option ID=30696]

Sl. No.56
QBID:9915148431

A lens that has a focal length of 35mm or shorter, which gives you a wide field of view:




(1) zoom lens

(2) telephoto lens

(3) wide-angle lens

(4) none of these

et dm 71 e gt 35 il o1 ouE A T e S = 8 e o § 9% 99 Sean &
(1) wF T

(2) Tefiere g

(3) TrEs-Tw o

(4) S A BI5 A8

1[Option ID=30697]
2[Option ID=30698]
3[Option ID=30699]
4[Option ID=30700]

Sl. No.57
QBID:9915148432

The primary text matter that is used in any layout which is descriptive is called:
(1) bold copy

(2) paragraph copy

(3) body copy

(4) bolded copy

et aifirare & ygad g1 a1 Wit UIe ol qUHTES Bidl €, 98 Seadl &
(1) dies S

(2) T S

(3) @igi sl

4) dres ®M

1[Option ID=30701]

2[Option ID=30702]

3[Option ID=30703]
4[Option ID=30704]

Sl. No.58
QBID:9915148433

Intaglio printmaking is a method of :

(1) cutting, carving or engraving

(2) printing, proofing and designing

(3) paper, reed or Wood

(4) machine and assembly

IePIv i gev (g=<fasl fieafsm Foffea § 8 Fesl & usfa &
(1) e, I a1 AEERh

(2) T, i SR siftmee

(3) A, Rgd U THSI

(4) 7= SR §H=T

1[Option ID=30705]
2[Option ID=30706]
3[Option ID=30707]
4[Option ID=30708]

Sl. No.59
QBID:9915148434

Modern offset printing is done on a press composed basicallly of rotating cylinders consisting:
(1) Plate Cylinder

(2) Blanket Cylinder

(3) Impression Cylinder

(4) All of these

yfiae sHiae qaur et 3w W gee: Faff@a § fea giaerd faftis & arr fsa o &

(1) we ffdse




(2) wie fuftise
(3) sHEEE &k
(4) =

1[Option ID=30709]
2[Option ID=30710]

3[Option ID=30711]
4[Option ID=30712]

Sl. No.60
QBID:9915148435

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Intaglio printing is the opposite of relief printing, in that the printing is done from ink that is below the surface of the plate.
Reason R : It is distinguished from the other methods by the fact that the ink forming the design is printed only from recessed areas of
the plate.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct but R is NOT the correct explanation of A

(2) Both A and R are correct and R is the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

Fr9 €1 Ty faU TE & TF i@ (Assertion A) F 9§ ffEd & 1 g0 S9& FRU (Reason R) & ¥4

HHBUA A ; IBI ST G501 SUR Ha01 & [Fufd g 2, o ge0 =gl & g fan Wial & @i &1 9ag & -1 gt 3
SRR ; 9% qura: o fafiEt & g sva 2 % wrd @ ffda 69 ol g Faa e & Rafem 451 3 gfta ot ad 2
SWIE FUE F amE §, A1 B T fiwe § ¥ 999 Sugs 9T #1994 S

(1) A IRREFEI 9 2 SRR, A &1 98l e 2

(2) A AR R 981 2 9T R, A 31 98 oarem 781 21
(3) AGdiz IR T A 2

(4) A 9El 781 ¢ ofe R 961 B

1[Option ID=30713]
2[Option ID=30714]
3[Option ID=30715]
4[Option ID=30716]

Sl. No.61
QBID:9915148436

Printing technique in which the printing and nenprinting areas of the plate are in a single plane.
(1) Gravure

(2) Dry offset

(3) Letterpress

(4) Planography

6 qEU A owd @e & geU U TR-gE0 49 U 9as A € € a8 seardl o

(1) 7w

(2) TE AHihde

(3) T Ug

(4) THETE

1[Option ID=30717]
2[Option ID=30718]
3[Option ID=30719]
4[Option ID=30720]

Sl. No.62
QBID:9915148437

An impression to break the grain of paper for sasy folding:
(1) Cut-out

(2) Cut-flush

(3) Impression

(4) Creasing

P HI TWAAIS ASH & 1Y S0 dg7a &1 A5 1 ga1 Seardl &
(1) Te-H3T

(2) HC-TE

(3)




THEH
(4) it

1[Option ID=30721]
2[Option ID=30722]
3[Option ID=30723]
4[Option ID=30724]

Sl. No.63
QBID:9915148438

Movwable type and paper were invented in :
(1) Germany

(2) China

(3) Japan

(4) Korea

HEEe 215U SN ST &1 Gia S8l g8 o

(1) =

(2) 9=

(3) &UH

(4) =it

1[Option ID=30725]
2[Option ID=30726]
3[Option ID=30727]
4[Option ID=30728]

Sl. No.64
QBID:9915148439

The earliest form of paper books was called:
(1) tablets

(2) gazette

(3) accounts

(4) volume

TS &1 (S| & ad =9 & 71 Hal oIl o
(1) Twed

(2) o

(3) UPISTH

(4) dH

1[Option ID=30729]
2[Option ID=30730]
3[Option ID=30731]
4[Option ID=30732]

Sl. No.65
QBID:9915148440

Given below are two statements:

Statement I : A brand ambassador is a person engaged by an organization to represent its brand in a positive light, helping to increase
brand awareness and sales.

Statement II : Actress Deepika Padukone is the global brand ambassador of 'Levi's'.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement IT i1s correct

R S FyE feu T &

FUA | : TS §1S JfEesy 95 ofed ¢ ol [ 9ed 5N oS & Wi oresal ok @ sgr # Sema & Ry IR §1s & TeREE 98 INd 5 $
for forgea T o 21

w11 ; i St uigei R 1 ifys gz &t 81

TWIE BYA & AT H, 9 U T et H ¥ wes 9uged 9 #1994 S

1) EIIRFTE EE T
(2) FYF I AN FYFII SHl Tod &
(3) sy 1 FEl 2 dft By 11 7Taa &
(4)




FY [ TTed &, ot U I 98 &

1[Option ID=30737]
2[Option ID=30738]
3[Option ID=30739]
4[Option ID=30740]

Sl. No.66
QBID:9915148441

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Campaign is typically a military term used for a well organised course or a series of action.

Reason R : It means strategic planning for all round action as was done for a war taking into account attacks on surface, from air and
sea, by the army. air-force and navy.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A is correct but R is not correct.

(4) A is not correct but R is correct

#1931 T feu T §: UF SfUFYE (Assertion A) ¥ w1 # ¥4 § A g9 395 HRU (Reason R) F F9 &

sifieE A ;o were: it &1 wieg 8, sty gEnfea o a1 s-ywen % R 9 2

SR R : SUH1 =Y ol 7@ STy & [0 Wi e 9 ¢, o $ 4o, aige-1 Ud A9 g1 a7g U9 915 § 905 9 SHIGAT & @ § 39d U
g faa v o |

TWIE BYUA & AR H, A9 U T [FEet H ¥ w9 9ugad 9 $1 98 S

(1) A SRR i 98 € 9k R, A $1 981 oo g

(2) A JRR EH 98 2 @fea R, A &1 9dl orem 98 21
(3) A WEl & o R w8 7 B

(4) A 98 78 & ofe= R 961 &

1[Option ID=30741]
2[Option ID=30742]
3[Option ID=30743]
4[Option ID=30744]

Sl. No.67
QBID:9915148442

Previously drawn images that artists can legally use in their own work are known as:
(1) copy art

(2) clip art

(3) shareware

(4) free art

g & "9 T o B o8 e R A9 9e # S ¥ 9 Va &Y 96d ©, 9% 90 Sel ol
(1) S7 3

(2) fFeg amé

(3) =aw

(4 Wi

1[Option ID=30745]

2[Option ID=30746]

3[Option ID=30747]
4[Option ID=30748]

Sl. No.68
QBID:9915148443

Given below are two statements:

Statement I : Advertising helps in educating the people regarding new uses of various products.
Statement II : Advertising is often criticized as a wasteful activity and an unnecessary evil.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct




fR S s R &

FvA [ - foea i Saet & 98 3w & d9e¥ & ol 1 9res S o

HUA 11 : famoe 1 smordt SR-HeY 08 SHEwes s & w0 § g SEEE S e 2l
IWIEd FUF & A0S §, 9 80 T el # § 999 99gad Sk &1 99 S

(1) FA] AR FuF I S o &
(2) Fu 1 R &uA 11 g1 Toa &
(3) T 1 el 2, A Fu 11 o &
(4) FYA ] 7Tea B, AT A 11 9 7

1[Option ID=30749]
2[Option ID=30750]
3[Option ID=30751]
4[Option ID=30752]

Sl. No.69
QBID:9915148444

A band of colours, as seen in a rainbow, produced by separation of the components of light by their different degrees of refraction
according to wavelength.

(1) Neutrals

(2) Spectrum

(3) Space

(4) Texture

TETEE F SER oA Bl 9! A AEst GRT UeT & gehl F qUaEI GRT I f gy # fgms o areft i Y o 3 wwn o &

(1) g™

(2) SxHA

(3) @9

(4) TEm
1[Option ID=30753]
2[Option ID=30754]

3[Option ID=30755]
4[Option ID=30756]

Sl. No.70
QBID:9915148445

Match List - I with List - IT

List-1I List - IT
A [Pryush Pandey 1  |Cartoonist
B [Prasoon Joshi I JAd Man
C |[RK Laxman III |Photographer
D [Raghu Rai IV |Copvwriter

Choose the correct answer from the options given below :
(1) A-II. B- IV, C-1. D-III
(2) A-I B-III. C-I, D-IV
(3) A-III, B-II, C-IV, D-I
(4) A-II, B-I, C-IV, D-II

il - 1% 914 =i - 11 D7 i fefeg:

-1 Tt - 10
A [dig oS | |- REeR @)
B [FgH Wl 1 [gs84
C 3R & e Il [BRIESR (BIeHhT)
D R s fasTo s
i fe o fagred @ 9 TR o1 957 B

(1) A-IL B-1V, C-1. D-III
(2) A-IL B-III C-I. D-IV
(3) AL B-II, C-IV, D-I
(4) A-IL B-L. C-IV, D-II




1[Option ID=30757]
2[Option ID=30758]
3[Option ID=30759]
4[Option ID=30760]

Sl. No.71
QBID:9915148446

A group of three colours that are next to each other on the colour wheel are called:

(1) Monochrome
(2) Complementary

(3) Split-complementary

(4) Analogous

o T &1 U 95 o 90-9% WX UH-gEY & SATE-UN Bid 8, § HEaTd &
(1) F o

(2) ¥F

(3) fved - 9=

(4) TAEY

1[Option ID=30761]

2[Option ID=30762]

3[Option ID=30763]
4[Option ID=30764]

Sl. No.72
QBID:9915148447

A visually oriented information systems. consisting of signs. maps, arrows color-coding systems, pictograms and different typographic
elements.

(1) Spectrum

(2) Visual Hierarchy

(3) Signage system

(4) None of these

T TR gE o &1 PaffEa # € w0 o o 8, e e, aehE, W Gea), SR-sie R, eemm ok i qeo aa it g &
(1) FEgH

(2) T HaITHH

(3) Haea o=l

(9) FHITE T
1[Option ID=30765]
2[Option ID=30766]

3[Option ID=30767]
4[Option ID=30768]

Sl. No.73
QBID:9915148448

A range of typeface designs that are variations of single typeface design is known as:
(1) Font

(2) Letterform

(3) Type family

(4) Type

TETHE HHF! B 9% X9 #1 [H0 CIsUEd JAieed &1 SO ol 6 96 Feadl &
1) wie

(2) TerEH

(3) =5y S

(4) <A

1[Option ID=30769]

2[Option ID=30770]

3[Option ID=30771]
4[Option ID=30772]

Sl. No.74
QBID:9915148449

Half-tone illustration made from a single original with two different colours at different screen angles :

(1) dot tone




(2) monotone

(3) continuous tone

(4) duo tone

fafts &1 Sivt = 31 firg 1 9t wa o & Ffifa sdem fpo e &
(1) sieeM

(2) AFTEA

(3) §aaeH

(4) gafiEm

1[Option ID=30773]

2[Option ID=30774]

3[Option ID=30775]
4[Option ID=30776]

Sl. No.75
QBID:9915148450

Who is known as a 'father of advertizsing' ?

(1) William Bernbach

(2) David Ogilvy

(3) Marion Harper Jr.

(4) Leo Burnett

fEqee & v (FieY +Th Tsatensiu & vy # Fafafaa # 9 8 9w a2
(1) faftes Ties

(2) SHEs =R

(3) AT FTR FFRR

(4) fareit ade

1[Option ID=30781]
2[Option ID=30782]
3[Option ID=30783]
4[Option ID=30784]

Sl. No.76
QBID:9915148451

Who designed the logo of "Doordarshan'?
(1) Sudarshan Dheer

(2) Sujata Kesavan

(3) Devashis Bhattacharyya

(4) Shekhar Kamat

"gUgR & TFl & fee sftefoad fem 2

(1) e 4R
(2) Gl H=EA
(3) iy vgTEE
(4) =R BWA

1[Option ID=30785]
2[Option ID=30786]
3[Option ID=30787]
4[Option ID=30788]

Sl. No.77
QBID:9915148452

Match List - I with List - IT

List-I List - II
A Photoshop 1  [Typeface
B |Storvboarding II [Raster Based Software
C  [Bodom III |Amimation
D [Power pomt IV [Presentation

Choose the correct answer from the options given below :
(1) A-II. B- IV, C-1. D-III
(2) AL B-III, C-I, D-IV




(3) A-IV, B-II. C-L. D-II
(4) A-IV, B-II. C-II. D-I

el - 1 F1Y Fai - 11 7 e fesfee:

Tt -1 T - 11
A BRI [ CIRUhd
B [ERiEa 1 [RRe ARG Biteda
C [ErsH] 11 [T-HEH
D [O7a |Gi5c IV [Jsic g

< feu e fde el # § 96l SR &1 997 Do
(1) A-II. B- IV, C-1, D-III

(2) A-II. B-II1, C-1, D-IV

(3) A-IV, B-1II, C-I., D-II

(4) A-IV, B-III, C-1I, D-I

1[Option ID=30789]

2[Option ID=30790]

3[Option ID=30791]
4[Option ID=30792]

Sl. No.78
QBID:9915148453

Any individual who purchases goods and services from the market for the end use is called
(1) Buyer

(2) Customer

(3) Consumer

(4) All of these

B1S ofea o S99 iy SugnT ¥ oy axgeil ud Sarst &1 @ficd 8 98 ssae
(1)

(2) HE®

(3) FuviE

(4) =i

1[Option ID=30793]

2[Option ID=30794]

3[Option ID=30795]
4[Option ID=30796]

Sl. No.79
QBID:9915148454

Given below are two statements:
Statement I : The receiver or the interpreter in an advertising communication system refers to the target audience or the person to

whom the message is directed.

Statement IT : Defining a target audience is least important in advertising.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement II is correct

i < FuA fer T &
FU 1 ; [{Ie G590 sgewyT | Widdl a1 saredTdl Tiaud eRie/ial a1 99 |ied 9 Seiid e &, o o vew Fidy g 2

w11 : faws & afgga oxf® / shan &1 Fegu &1 &0 7@yl e ¢
IRad YA F MAE H, A1 ST T FF § ¥ 999 99 9l B 994 S

(1) ;A IR G o &
(2) ®u ] 3R B [1 S e §
(3) FuF1 98 & A T 1] T &
(4) T oA e AT s I TR B

1[Option ID=30797]
2[Option ID=30798]
3[Option ID=30799]
4[Option ID=30800]




Sl. No.80
QBID:9915148455

Given below are two statements:

Statement I : Sir Isaac Newton developed the first circular diagram of colours in 1666.

Statement IT : Most brands do not use much colour in their advertising as it distracts the attention of the viewers.
In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement IT are incorrect.

(3) Statement I is correct but Statement IT is incorrect.

(4) Statement I is incorrect but Statement T is correct.

FE S FE R E

FUT -1 : W 5T g27 7 74 1666 H T F1 gduuw gxim s fastas e

HYA - 11 : S §15 o fBFl 7 oif¥e &1 %1 W00 78] #3d ¢ aiiE ax¥id] & A &) [APe (-4 34 8
IWIE BYA & AT H, A9 G T [GEedt H ¥ w9 9uged 9 #1991 S

(1) &y -1 R I 2 981 1
(2) HuF -1 R Sl Tad £
(3) & -1 ¥l &, Wi HU - I1 a4 &
(4) v - 1 79 &, dfees &Y - [T 981 2

1[Option ID=30801]
2[Option ID=30802]
3[Option ID=30803]
4[Option ID=30804]

Sl. No.81
QBID:9915148456

Given below are two statements:

Statement I : Magazines are considered better medums than newspapers as it allows for better targeting of audience.
Statement II : Better quality paper used in magazines permits better colour reproduction and full-colour ads.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement IT is mcorrect

(4) Statement I is incorrect but Statement II is correct

TR e RumE:

FU - | : IRAFE GIER-TH #1041 S5a% A1 A O § i J UeS] $ d5ox 95 $ Y A Sl 5

B - 11 ; ufs1ei & Uged agax TuEs e SR dgax GiiF wiared % gof Wil Beet $t s & Ry Suged g 3
IWIed FYF & AT 1, 9 37 0 Beel # 9 999 ugad IR 1 904 Siie:

(1) &y -1 SR I S 981 1
(2) FYF - R ] <Hf Tad 2l
(3) & -1 ¥l &, Wi HU - I1 a4 &
(4) v - 1 79 &, dfees wue - [1 T8 2

1[Option ID=30805]
2[Option ID=30806]
3[Option ID=30807]
4[Option ID=30808]

Sl. No.82
QBID:9915148457

Bi-monthly magazines are:
(1) Publication issued every two months

(2) Publication issued after 3 months
(3) Publication issued twice a year

(4) Publication issued twice a month

(1) Y& 3 A1 W ISIE 5t 8
(2) i 715 TaTE v B g
(3) of & 1 9r vl o 2
(4) #1E # &1 IR 9FeE Bl 8

1[Option ID=30809]




2[Option ID=30810]
3[Option ID=30811]
4[Option ID=30812]

Sl. No.83
QBID:9915148458

Comprehensive layout is a form of

(1) Thumbnail sketches
(2) Rough layout

(3) Refined version of finished layout
(4) Final artwork to be printed

s st FafifEd =1 @ = R
(1) sfée =g

(2) mivega i

(3) ufeguf sifiFara &1 ufespa dwese

(9) T &g Sifew wemsha

1[Option ID=30813]
2[Option ID=30814]
3[Option ID=30815]
4[Option ID=30816]

Sl. No.84
QBID:9915148459

A marketing technique in which the seller sends marketing message directly to its buyers is called
(1) Direct Marketing

(2) Digital Media Marketing

(3) Sales promotion

(4) None of these

7% AT ien wiafy, o e vy w0 # 599 Sier! o arbfen $am dod & 78 Sl &
(1) weg AT

(2) fsfoen ditsar Arbien

(3) fap? i (e )

(4) Toied d § #5178

1[Option ID=30817]

2[Option ID=30818]

3[Option ID=30819]
4[Option ID=30820]

Sl. No.85
QBID:9915148460

Match List - I with List - IT

List-1 List - II
A the spacing between mdividual I [Negative
letters Space
B the space between adjacent lines of i |4 Sace
ype
C ithe empty space around and between 1L
ithe subject
the area of a webpage dedicated to . .
D il ad [V |[Kerning Space

Choose the correct answer from the options given below :
(1) A-II B-IV. C-I, D-III
(2) A-II, B-III, C-I, D-IV
(3) A-IV, B-III, C-I, D-II
(4) A-IV, B-L, C-III, D-II




el - 1% 914 i - 11 &7 e fesfee:
-1 T -1

3 ) (PRIED =T

A [gY® U1 & T ST I ARt

. 213U @ Mdead! uigadl & 1 [ORITO ®IH (@
e Sl RGE)
(a9 & IR 3R IR A el | [0 R (@ieT

C P 111 Faﬂj

s EEPERE G CAIICACRCRIbE | [T & R
U B & ou gafig e | (@)

= fqu T fad el O ¥ a1 3R &1 99 HIfI:

(1) A-II, B-IV, C-I, D-III
(2) A-II. B-ITI, C-I, D-IV
(3) A-IV, B-III, C-1, D-I1
(4) A-IV, B-I. C-II1. D-II
1[Option ID=30825]
2[Option ID=30826]

3[Option ID=30827]
4[Option ID=30828]

Sl. No.86
QBID:9915148461

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : A camera obscura is a darkened room with a small hole or lens at one side through which an image 1s projected onto a
wall or table opposite the hole.

Reason R : As a drawing aid. it allows tracing the projected image to produce a highly accurate representation, and was especially
appreciated as an easy way to achieve proper graphical perspective.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

#1931 T iU T §: UF SfUFYE (Assertion A) ¥ w1 # fAf¥a § A g9 395 HRU (Reason R) F F9 &

HUBUT A ; AN AHFNT U SieT g 1 dF aTe U <A S & o ue aer § fag & faufg foan <6 ot fear o1 &9 w ue o wédfia fean
T B

HRU R : fiAi®- 950% & w9 § 98 U6 odd UNEE Wioed Sod &3 & g 98id fag & sifidiem £1 ogafy vem & & ok E sha o
Uitlen & Ui S & §d 961 & &9 § gy =9 9 gear ueE &1 O |

IURIE BYA & e A A= BT 1 fdwedl # 9 el SugEd 9T $1 90 Shiue

(1) A SRR T 981§ SRR, A F 91 U

(2) A SRR EFi 8 € @ R, A 9 w8l oren 79 )
(3) AT EAETR T TR

(4) A 9El 781 ¢ ofé R 961 B

1[Option ID=30829]
2[Option ID=30830]
3[Option ID=30831]
4[Option ID=30832]

Sl. No.87
QBID:9915148462

What is the ratio of golden section also known as golden ratio:
(1) 0.618034:1
(2) 0.618034:2
(3) 6.018034:1
(4) 6.018034:2

A AU (Tiee Gau(, R e g9 & &9 & i 991 o101 8, &1 ofg9ia <41 &
(1) 0.618034:1
(2) 0.618034:2
(3) 6.018034:1




(4) 6.018034:2

1[Option ID=30833]
2[Option ID=30834]
3[Option ID=30835]
4[Option ID=30836]

Sl. No.88
QBID:9915148463

An advertisement. usually small and composed only of text, listed in' a newspaper or magazine classified according to subject area and
carrying no illustration is known as:

(1) Small ads

(2) No illustration ads

(3) Typographic ads

(4) Classified ads
aﬁﬁgﬁmwm:zﬁaqﬁﬂﬁﬁmﬁﬁ(%EE]@?ﬁlﬁﬁﬂﬂ&ﬁﬁ?&aﬂﬁﬁﬁﬁHHMH-T:HJTqawﬁwﬁgadsﬁm%&ﬁ?%mﬂaﬁ%ﬁﬁqﬁ@m%ﬂﬂm
TGN

(1) @Y faamE

(2) farm fom =1 famme

(3) Higa fame= Erimies)

(4) TiEa famme @EeiwEs)

1[Option ID=30837]
2[Option ID=30838]
3[Option ID=30839]
4[Option ID=30840]

Sl. No.89
QBID:9915148464

Who illustrated the iconic character of the brand Amul?
(1) Satyajeet Ray

(2) Eustace Fernandes

(3) Nargis Wadia

(4) R.K. Joshi

T wis & UiE 9 @ Fefofe § 9 feam fafba fear 2
(1) w@heE ¥

(2) gEeH BAlSH

(3) =fifg afgan

(4) 3R & S

1[Option ID=30841]

2[Option ID=30842]

3[Option ID=30843]
4[Option ID=30844]

Sl. No.90
QBID:9915148465

The size of the newspaper ad is measured in columns for width, while the height is measured in:
(1) Centimetres

(2) Inches

(3) Columns

(4) Feet

TAR 0 &I % SER B 919 91518 5 [0 Siag 8 96ie S o1 Ave HEiaiad § § e da &
(1) ¥R

(2 ==

(3) =iTH

(4) wmie

1[Option ID=30845]
2[Option ID=30846]
3[Option ID=30847]
4[Option ID=30848]

Sl. No.91
QBID:9915148466

A logo that predominantly consists of text generally the brand's name or initials.




(1) Symbeol

(2) Monogram
(3) Logotype

(4) Icon

U O o e U9 Res aTeT EiaT & e WG SS @1 A1 a1 STUER Sidl €, 99 Pal o &
1) fHam

(2) AFmm

(3) @FIErRY

(4) o8 B
1[Option ID=30849]
2[Option ID=30850]

3[Option ID=30851]
4[Option ID=30852]

Sl. No.92
QBID:9915148467

Match List - I with List - IT

List-I List - IT
1A [Fust printing press established in I |1430s
B [Flexography developed in T 1919
C  [Bauhaus School founded i 11 |1890
D .ii;dobe Photoshop software introduce v l1oss

Choose the correct answer from the options given below :
(1) A-L B-IIL, C-II, D-IV
(2) A-I, B-II, C-III, D-IV
(3) A-IV, B-I. C-III. D-II
(4) A-IV, B-III, C-I, D-II

el - 1 F1Y Jai - 11 7 e fesfee:

-1 T -1
A [qH U UG &1 =i [ [1430s
B [RGBl [GHy m 1919
C (61514 Wbl Bl RITTHT 11 (1890
D [TSid BIeRIY QUedR & [HRY [V [1980
i< fau ¢ g eul & U gl SR &1 99 Sifdy:

(1) A-I, B-III, C-II, D-IV
(2) A-L B-II, C-III, D-IV
(3) A-IV, B-1. C-III. D-1I
(4) A-IV, B-III. C-I. D-II
1[Option ID=30853]
2[Option ID=30854]

3[Option ID=30855]
4[Option ID=30856]

Sl. No.93
QBID:9915148468




Match List - I with List - IT

List-1 List - IT

A A“‘».'lsua.l representatlon [ I

of information =

Whole 15 greater than
B the sum of its parts il i

A certification mark for
- agricultural produce HiE [Gestalt

iperson, animal, or B .
& object used as a symb iV [Infoztaphic

Choose the correct answer from the options given below :
(1) A-L B-IIL, C-II, D-IV

(2) A-L B-I C-III. D- IV

(3) A-IV, B-I. C-III. D-II

(4) A-IV, B-IIL, C-I, D-II

el - 1 F1Y Jai - 11 7 e fesfee:

T -1 Tt - 11
A [T 129y Gadidexul | [0

B %;%’E@%mﬁ I Al (QHaR)

C ﬁ%a d 30 &g TR0 I [fcTee
Tdi® €0 H IRad @5 i

P b gy e 1V BB Ebe

A fu e fae e © O T8l 3T &1 904 i

(1) A-L, B-III, C-II, D-IV

(2) A-L B-IIL C-III, D-IV

(3) A-IV, B-I, C-III, D-II
(4) A-IV, B-III, C-I, D-II

1[Option ID=30857]
2[Option ID=30858]
3[Option ID=30859]
4[Option ID=30860]

Sl. No.94
QBID:9915148469

Given below are two statements:
Statement I : Brain storming is a session, when all the big officials sit and discuss an issue to get new ideas.
Statement II : Brainstorming actually harms creative performance, resulting in a collective performance loss that is the very opposite of

SYnergy.
Izl:heg}:ght of the above statements. choose the most appropriate answer from the options given below:
(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement II is correct

9 <1 vy Ry o &

HYA | ; 704 fFER! &0 o $3 $ (i e 18 w wi-aieel w9 5 R 92 afieiial 9 3o &1 99 [Ger-dua seam 2

HUA [1 ; aa H, faR-Hy= weHres e &1 g ugara § s afom e aefes fraes a9t 4f el § o ssfbm % s fauda 21
SWIE FUE F AW §, A1 B T fiwe § ¥ 999 Sugs I #1994 S

(1) FFAI AR S o8 &
(2) &Y 1 3R ®uA 11 8 e &
(3) @y TEl 2, e sy I e 7
(4) wyF I o 2, AT Bua 11 96 2

1[Option ID=30861]
2[Option ID=30862]
3[Option ID=30863]
4[Option ID=30864]




Sl. No.95
QBID:9915148470

Match List - I with List - IT

List-1I List - IT
A |Transit Ad [  [Point of Purchase (POP)
B [Website [I |Outdoor Medium
C  [Newspaper [T |Online Medium
D |Counter Display [V [Prnt Medium

Choose the correct answer from the options given below :
(1) A-L B-IIL, C-II, D-IV
(2) A-II. B-IT1, C-IV, D-I
(3) A-IL B-I, C-II D-IV
(4) A-L B-IIL C-IV, D-II

il - 1 1Y i - 11 DT e fefeg:

-1 -1
- i m@jﬁ?%ﬁﬁ(ﬂﬁ&h
B [dddgc [I 3SR HOH
C ~aUUY [ (AT HiEHH
D [@dex faae v (e orsEs
i fu U fae e © 9 T8l 3T &1 904 Sifo:

(1) A-I, B-III, C-II, D-IV
(2) A-II. B-III. C-IV, D-I
(3) A-II. B-I, C-III, D-IV
(4) A-I, B-III. C-IV, D-II
1[Option ID=30869]
2[Option ID=30870]

3[Option ID=30871]
4[Option ID=30872]

Sl. No.96
QBID:9915148471

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Labelling acts as a silent salesman.
Reason R : Tt helps in the promotion of products by attracting the attention of customers and providing required information.
In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R is not correet.
(4) A is not correct but R is correct.

H2 <1 Fy fau MU & 0F AfUFUA (Assertion A) F w9 F ffEd & 1 39U 99 FRU (Reason R) & ¥4 &
YA A < T = s fFwar & w9 § w11 axa gl

FRU R : O T6H! & AHIGYY g 3G B S § Fergal a1 ¢ 3N W 341 UgH &3l ¢l

IWIE BYUA F WS H, A9 G T FEet H ¥ w9 9uged 9 #1994 S

(1) A SRR i 98 € 9k R, A $1 981 oorem ¢

(2) A JRR EH g8 @fea R, A &1 9dl o 98 21
(3) A WEl & o R w8 7 B

(4) A 98! 781 & ofesd R 98l &1

1[Option ID=30873]
2[Option ID=30874]
3[Option ID=30875]
4[Option ID=30876]

Sl. No.97
QBID:9915148472




Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: An established brand name enables the firm to charge prices higher than the competing products.
Reason R: Many companies with established brand names decide to introduce new products in the same name.
In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is comrect but R is not correct.

(4) A 1s not correct but R is correct.

+i9 31 v faU T §: 0P P (Assertion A) ¥ w9 # fafEa § dl g9 395 SN0 (Reason R) F F9 &
P A ; U I §S &1 AW S & uieal Swref & gema geuf s s o3 & saef s9m 21
FRO R, : 31 Fo01 7 =ty g F T 99 TE F IHE W 9 70 IOE 1 WY = F1 o fmn g
I FUH & K H, A G T fgFent § § 999 Sugsd 9T #1994 ST

(1) A SRR gHi w8l & iR R, A &1 561 aarem 21

(2) A IR R gHI 9 2 dfp9 R, A 1 581 =men =8 2
(3) A ¥ ¢ ofe= R 9dl 781 &1

(4) AT e afET R TR

1[Option ID=30877]
2[Option ID=30878]
3[Option ID=30879]
4[Option ID=30880]

Sl. No.98
QBID:9915148473

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Advertising costs are passed on to consumers in the form of higher prices.

Reason R : Advertising helps in increasing sales and thereby reducing cost.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

2 21 Ty faU U & 0F AfNFYF (Assertion A) F 9 F fEd § 1 90 S9F FRU (Reason R) & ¥4 #;
iy A - faoe ard 3= gedt & w9 § guiedel W an) B

SR R ; e it 9g # Tene gar ¢ R a8 Siad sa 8w 71

TIRE FYA & A0 A A= BT 7 fowedt # ¥ 99 SugEd 9T $1 90 S

(1) A SRR 98 g SRR, A F 91 U B

(2) A SRR EFi 98 € @ R, A 9 w8l oren 79 )
(3) ATEEAfEA R I TE 2

(4) A ¥El 781 ¢ ofé R 961 B

1[Option ID=30881]
2[Option ID=30882]
3[Option ID=30883]
4[Option ID=30884]

Sl. No.99
QBID:9915148474

Equal distant vertical and horizontal guide lines for making page lay-outs:
(1) Format

(2) Graph

(3) Galley

(4) Grid

gu-siftrrg i & g eae e saia ud A anieel sl #1 se o
(1) wide

(2) 9%

(3) et

(4) fis

1[Option ID=30885]
2[Option ID=30886]




3[Option ID=30887]
4[Option ID=30888]

Sl. No.100
QBID:9915148475

Match List - I (Brand Ambassador) with List - IT (Brands) :

List-1I List-1II
A Alia Bhatt I Manyavar
B Polio Vaccine I Make My Trip
c Salman Khan IIT  |Amitabh Bachchan
D Fanveer Singh IV |Pepsi

Choose the correct answer from the options given below :
(1) A-I B-II, C-II, D-IV
(2) A-IIL, B-II, C-IV, D-I
(3) A-IL B-I. C-IIIL D-IV
(4) A-I, B-III, C-IV, D-II

el - 1% 914 i - 11 &7 i fesfee:

T - 1 @18 =9 T - 1 @TS)
A |3TferaT HE [ [\

B |ffaqyE=d |1 HeHS U

C [goEE @ I [uiferl deRiA

D [udi fig v [oedt

= feu T fad el O 3§ Ua1 3R &1 90 HIfI:
(1) A-I, B-III, C-II, D-IV

(2) A-IL, B-IIL, C-IV. D-I

(3) A-IIL B-I, C-III, D-IV

(4) A-L, B-III, C-IV, D-II

1[Option ID=30889]

2[Option ID=30890]

3[Option ID=30891]
4[Option ID=30892]




